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Lección 15  Uso de triángulos únicos para resolver problemas matemáticos y del mundo real

Trabajo en clase 
Ejemplo 1
[image: ]Una cerca triangular con dos ángulos iguales, , se usa para encerrar algunas ovejas.  Dentro del triángulo hay una cerca que divide el otro ángulo exactamente en dos ángulos iguales:  .  Observa que las puertas, representadas por  y , tienen el mismo ancho. 
 










Ejemplo 2
En , .  John dice que la correspondencia de triángulos  coincide en dos lados y el ángulo incluido, y demuestra que .  ¿Está John en lo correcto?
[image: ]		[image: ]


Ejercicios 1–4
Mary coloca el centro de su compás en el vértice  del ángulo y ubica los puntos  y  en los lados del ángulo.  Luego, centra el compás en  y en  para ubicar el punto .  Por último, construye el rayo .  Explica por qué .
[image: ]










[image: ]Cuadrilátero  es un modelo de cometa.  Las diagonales  y  representan los palos que ayudan a mantener firme el cometa.  
John dice que .  ¿Puedes usar triángulos idénticos para demostrar que John está en lo correcto?







Jill dice que los dos palos son perpendiculares entre sí.  Usa  y lo que sabes sobre triángulos idénticos para demostrar .







John dice que la correspondencia de triángulos de Jill que demuestra que los palos son perpendiculares entre sí también demuestra que los palos se cruzan en el punto medio del palo horizontal.   ¿Está John en lo correcto?  Explica.






En , .  Jill dice que la correspondencia de triángulos  coincide en dos lados y el ángulo incluido, y demuestra que .   ¿Está Jill en lo correcto?
[image: ][image: ]



[image: ]Para marcar un campo de fútbol se usan banderas en la esquina triangular derecha. Las banderas de vinilo tienen una base de cm y una altura de  cm.
Mary dice que las dos banderas se pueden obtener al cortar un rectángulo de  cm  cm diagonalmente.  ¿Esto creará dos banderas idénticas?  Explica.







Will mide los dos ángulos no rectos de una bandera y suma las medidas.  ¿Puedes explicar, sin medir los ángulos, por qué su respuesta es ?





Conjunto de problemas 

A Jack le piden cortar una torta en  trozos iguales.  Primero la corta en cuatro partes iguales en forma de rectángulos y luego corta cada rectángulo diagonalmente.
¿Cortó la torta en  trozos iguales?  Explica.
[image: ]

El puente mostrado a continuación, que cruza un río, está construido con dos soportes triangulares.  El punto  está en el segmento .  Las vigas representadas por  y  son de igual longitud, y las vigas representadas por  y  son de igual longitud.  Si los soportes se construyeron para que  y  tengan medidas iguales, es el punto  el punto medio de ?  Explica.   
[image: ]

En , .  Bill dice que la correspondencia de triángulos  coincide en tres lados iguales y demuestra que .  ¿Está Bill en lo correcto?
[image: Macintosh HD:Users:wright:Desktop:David's:CCSS:isoscelestriangle.pdf]

En el problema anterior, Jill dice que la correspondencia de triángulos  coincide en dos lados iguales y el ángulo incluido.  Esto también demuestra que .  ¿Está Jill en lo correcto?
[image: http://mirrors.creativecommons.org/presskit/buttons/80x15/png/by-nc-sa.png] (
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4. (Using a triangle correspondence between a triangle and itself.) In 4ABC, \A = \B. Jill
says that the triangle correspondence 4ABC $4BAC matches two angles and the included
side to explain why AC = BC. Is Jill right?



C



BA



5. Quadrilateral ACBD is a model of a kite. The diagonals AB and CD represent the sticks
that help keep the kite rigid.



(a) John says that \ACD = \BCD. Can you use identical triangles to show that John is
correct?



(b) Jill says that the two sticks are perpendicular to each other. Use the fact that \ACD =
\BCD and identical triangles to show \AEC = 90�.



(c) John says that Jill’s triangle correspondence that shows the sticks are perpendicular to
each other also shows that the the sticks cross at the midpoint of the horizontal stick.
What do you think of John’s statement?










C

B A

4. ( Us i n g a t r i an gl e c or r e s p on d encebetweenatriangleand i t s e l f . ) I n 4 AB C , \ A = \ B .J i l l

s a y s t h at t h e t r i an gl e c or r e s p ondence4ABC$ 4BACm at c h e s t w o an gl e s an d t h e i n c l u d e d

s i d e t o e x p l ai n w h y AC = BC.IsJillright?

C

BA

5. Q u ad r i l at e r al AC B D i s a m odelofakite.Thediagonals AB an d CD re pre s e n t the s tic ks

t h at h e l p k e e p t h e k i t e r i gi d .

( a) J oh n s a y s t h at \ AC D =\BCD.Canyouuseident i c al t r i an gl e s t o s h o w t h at J oh n i s

c or r e c t ?

( b ) J i l l s a y s t h at t h e t w o s t i cksareperpendiculartoeach ot h e r . Us e t h e f ac t t h at \ AC D =

\ BC D an d i d e n t i c al t r ianglestoshow\AEC=90

◦

.

( c ) J oh n s a y s t h at J i l l ’ s t r i anglecorrespondencethats

h

o w s t h e s t i c k s ar e p e r p e n d i c u l ar t o

e ac h ot h e r al s o s h o w s t hatthethestickscrossatth e m i d p oi n t of t h e h or i z on t al s t i c k .

W h at d o y ou t h i n k of J ohn’sstatement?
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Lesson Fourteen, Using Unique Triangles to Solve Real-World and Mathematical



Problems



Student Outcomes: Students use conditions that determine a unique triangle to construct viable
arguments that angle measures of lengths are equal. They critique the reasoning of others.



1. Mary puts the center of her compass at the vertex O of the angle and locates points A and
B on the sides of the angle. She then centers her compass at each of A and B to locate point
C. She then constructs the ray



#    »
OC. Explain why \BOC = \AOC. Hint: Draw the line



segments AC and BC



O A



B
CC



O



B



A



B



A
O



2. A triangular fence with two equal angles, \S = \T , is used to enclose some sheep. A fence
is constructed inside the triangle that exactly cuts the other angle into two equal angles; i.e.,
\SRW = \TRW . Show that W is the midpoint of the part of the fence from S to T .



T
W



S



R



3. (Using a triangle correspondence between a triangle and itself.)



In4ABC, AC = BC. John says that the triangle correspondence4ABC $4BAC matches
two sides and the included angle and shows that \A = \B. Is John right?










L e s s o n Fourteen,UsingUniqueTrianglestoSolveReal-WorldandMathem a t i ca l P r o bl e msS t u d e n t Outcomes:Studentsuseconditionsthatdetermineauniquetriangletoconstruc t v i ab l e ar gu m e n tsthatanglemeasuresoflengthsareequal.Theycritiquethereasoningofothers . 1. M aryputsthecenterofhercompassatthevertexOoftheangleandlocatespoint s A an d B onthesidesoftheangle.ShethencentershercompassateachofAandBtolocat e p oi n t C . Shethenconstructstheray#    » OC. Explainwhy\BOC=\AOC. Hint:Draw t h e l i n e s e gmentsACandBC

O

A

B

C

C

O

B

A

B

A

O

2. A triangularfencewithtwoequalangles,\S=\T,isusedtoenclosesomesheep. A f e n c e

i s constructedinsidethetrianglethatexactlycutstheotherangleintotwoequalangl e s ; i . e . ,

\ SRW=\TRW.ShowthatWisthemidpointofthepartofthefencefromSto T .

T

W

S

R

3. ( Usingatrianglecorrespondencebetweenatriangleanditself.)

In 4ABC,AC=BC.Johnsaysthatthetrianglecorrespondence4ABC$ 4BAC m at c h e s

t w osidesandtheincludedangleandshowsthat\A=\B.IsJohnright?
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